Topic A06: Marginal and Absorption Costing

Student Worksheet Answers p.2


Task 1: Cost Classification
	Fixed Cost
	Variable Cost
	Production Cost 
	Non-Production Cost

	
	Direct materials
	Direct materials
	

	
	Direct wages
	Direct wages
	

	
	Direct expenses
	Direct expenses
	

	Factory manager salary
	
	Factory manager salary
	

	Factory management fee
	
	Factory management fee
	

	Factory rent and rates
	
	Factory rent and rates
	

	Factory insurance
	
	Factory insurance
	

	Depreciation expenses – Machinery
	
	Depreciation expenses – Machinery
	

	Bank loan interest
	
	
	Bank loan interest

	Depreciation expenses – Office equipment
	
	
	Depreciation expenses – Office equipment

	Cleaning expenses
	
	
	Cleaning expenses

	Salesman’s salaries
	
	
	Salesman’s salaries

	Advertising
	
	
	Advertising

	
	Sales commission
	
	Sales commission

	Office rent and rates
	
	
	Office rent and rates


Task 2: Cost Computation
Total Production Cost: $76,200
Unit Produced: 2,540
Production Cost per unit = Total Production Cost ÷ Unit Produced




           = $76,200 ÷ 2,540 units



           = $30
Task 3: Income Statement

(a) Selling Price 


    = Sales ÷ Number of units sold




  


= $187,500 ÷ (2,540 – 40)

= $187,500 ÷ 2,500
= $75

Variable Production Cost 

= $55,880 – ($55,880 ÷ 2,540 x 40)





  


= $55,000
Variable Non-production Cost
= $445


 


Fixed Production Cost 


= $9,000 + $1,020 + $7,000 + $600 + $900



  


= $20,320
Fixed Non-production Cost 

= $750 + $250 + $159 + $12,643 + $385 + $7,905




  


= $22,092
 Pattie Company

Income Statement for the month ended 30 June Year 8
	
	$   
	$ 

	Sales
	
	187,500

	Less: Variable production cost
	
	55,000

	Variable non-production cost
	
	   445

	Contribution margin
	
	132,055

	Less: Fixed costs
	
	

	· Production
	20,320
	

	· Non-production
	22,092
	 42,412

	Net profit
	
	89,643



Task 1: Cost Classification and Computation
(a) Cost Classification
	Cost Items
	Details
	Cost Classification under

	
	
	 Fixed or Variable
	 Production or Non-production

	Service fee paid to online platform
	$400/month
	Fixed Cost
	Non-production Cost

	Hire charges for heat transfer machines 
	$1,500/ month
	Fixed Cost
	Production Cost

	T-shirt purchase cost
	$15/piece


	Variable Cost
	Production Cost

	Printing charges
	$7/sheet


	Variable Cost
	Production Cost

	Delivery charges

	1% on sales
	Variable Cost
	Non-Production Cost

	Packaging tools and materials 
	$2,000/ month
	Fixed Cost
	Production Cost

	Stationery expenses

	$300/month
	Fixed Cost
	Non-production Cost

	Advertising fee (a fixed amount charged by an advertising firm)
	$1,000/month
	Fixed Cost
	Non-Production Cost

	Transaction fee charged by online platform 
	1.5% on sales 
	Variable Cost
	Non-Production Cost


(b) Cost Computation

Task 2: Profit Computation
(a)
Absorption Costing
	
	1st month
	2nd month
	3rd month

	
	$
	$
	$

	Sales
	21,750.00
	17,400.00
	23,925.00

	Less: Cost of goods sold:
	
	
	

	Opening inventory
	-
	-
	2,900.00

	Add: Production cost
	14,500.00
	14,500.00
	14,500.00

	Less: Closing inventory
	  -     
	2,900.00
	1,450.00

	
	14,500.00
	11,600.00
	15,950.00

	Gross profit
	7,250.00
	5,800.00
	7,975.00

	Less: Non-production costs
	
	
	

	· Fixed
	1,700.00
	1,700.00
	1,700.00

	 -  Variable
	  543.75
	  435.00
	  598.13

	Net profit
	5,006.25
	3,665.00
	5676.87


(b)  Marginal Costing
	
	1st month
	2nd month
	3rd month

	
	$
	$
	$

	Sales
	21,750.00
	17,400.00
	23,925.00

	Less: Variable production cost
	11,000.00
	8,800.00
	12,100.00

	
	
	(11,000-2,200)
	(2,200+11,000

-1,100)

	Variable non-production cost
	  543.75
	  435.00
	  598.13

	Contribution margin
	10,206.25
	8,165.00
	11,226.87

	Less: Fixed costs
	
	
	

	· Production
	3,500.00
	3,500.00
	3,500.00

	· Non-production
	1,700.00
	1,700.00
	1,700.00

	Net profit
	5,006.25
	2,965.00
	6,026.87


(Suggested arguments)
Arguments for the statement (hints: students are required to emphasise the advantages of Marginal Costing and disadvantages of Absorption Costing)
· Income statement under marginal costing is more useful in short-term decision making. Breakeven analysis can be performed.

· It is complex to calculate predetermined overhead absorption rate, over-absorption and under-absorption in absorption costing.

· Fixed costs are incurred over time. They should be included in period cost instead of production cost.

· Part of the current year’s fixed overhead is carried forward in closing inventory to the following year. Management may manipulate net profit by building up inventories and hence deferring the fixed overheads to the following years.


[image: image1]
Arguments against the statement (hints: students are required to emphasise the advantages of Absorption Costing and disadvantages of Marginal Costing)
· Absorption costing follows the matching concept. Under absorption costing system, both fixed and variable production costs are included in the cost of goods sold. It allows the matching of revenues with the total production costs when the goods are sold.
· Under / over-absorption of overheads is shown under absorption costing. It helps identify inefficient use of production resources.

· It is not easy to establish the variability of costs as costs are rarely completely variable or fixed.
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Answer to Activity 1





Answer to Activity 2








Under Marginal Costing:


									 $


T-shirt purchase cost					15


Printing charges						 7


Production cost per unit			    22





Under Absorption Costing:


									 $


T-shirt purchase cost 					15


Printing charges						 7


Production overhead*					 7


Production cost per unit			    29





*($1,500 + $2,000) ÷ 500 = $7























Answer to Activity 3
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